Exercises:

Attempt to finish our Markov analysis program as we discussed in class yesterday. Hints:

Use “let” (described in last week’s exercises) to assign the associated (assoc) to a local variable within your function; then remove that variable from the *stm* by setfing the *stm* to a list without that variable, then fix the variable to include the new info; then setf the *stm* to include the fixed variable.

Create a new function(s) to compose using the *stm* thus created (this will be a traditional recursive function that creates order one new Markov chains. Make sure to remember to remember that we included a nil in the *stm* in order to end the new composition. 

Then save a .mid file of two or three outputs and one of the input music to play next week in class so we can determine the effectiveness of the process in creating similarity but not duplication in output.

Here are a couple of additional problems:

(1) correct the error(s) in this function:

(defun make-cope-events (pitches)

     (if (null pitches) nil

          (cons (list ontime (first pitches) 1000 1 100)


        (make-cope-events (rest pitches)))))

(2) correct the error(s) in this function:


(defun test (y)

     (if (> y 1)()

          (cons y (test (- y 1)))))

